

Bicoset of an $(\in v q)$ -Fuzzy Bigroup

Akinola L.S.¹, Agboola A.A.A.² and Oyebo Y.T.³

1. Department of Mathematical and computer Sciences, Fountain University, Osogbo, Nigeria

2. Department of Mathematics, University of Agriculture, Abeokuta, Nigeria

3. Department of Mathematics, Lagos State University, Ojoo, Lagos, Nigeria

E-mail: akinolalsb@yahoo.com, aaaola2003@yahoo.com, oyeboyt@yahoo.com

Abstract: In this paper, we define $(\in, \in v q)$ - fuzzy normal bigroup and $(\in, \in v q)$ - fuzzy bicoset of a bigroup and discuss their properties as an extension of our work in [2]. We show that an $(\in, \in v q)$ - fuzzy bigroup of a bigroup G is an $(\in, \in v q)$ - fuzzy normal bigroup of G if and only if $(\in, \in v q)$ - fuzzy left bicosets and $(\in, \in v q)$ - fuzzy right bicosets of G are equal. We also define appropriate algebraic operation on the set of all $(\in, \in v q)$ - fuzzy normal bigroup of a bigroup G and show that it forms a group.

Key Words: bigroup, fuzzy bigroup, $(\in v q)$ -fuzzy bigroup, $(\in, \in v q)$ -fuzzy bicosets.

AMS(2010): 03E72, 20D25

§1. Introduction

Zadeh [14] introduced fuzzy set in 1965. Rosenfeld [9] introduced the notion of fuzzy subgroups in 1971. Ming and Ming [8] gave a condition for fuzzy subset of a set to be a fuzzy point, and used the idea to introduce and characterize the notions of quasi coincidence of a fuzzy point with a fuzzy set. Bhakat and Das [3] used these notions by Ming and Ming to introduce and characterize another class of fuzzy subgroup known as $(\in v q)$ - fuzzy subgroups. These authors in [4] extended these concepts to $(\in v q)$ -fuzzy normal subgroups.

The notion of bigroup was first introduced by P.L.Maggu [5] in 1994. This idea was extended in 1997 by Vasantha and Meiyappan [11]. Meiyappan [7] introduced and characterized fuzzy sub-bigroup of a bigroup in 1998. Akinola and Agboola in [2] introduced the idea of fuzzy singleton to fuzzy bigroup and used it to introduce restricted fuzzy bigroup. These authors also studied the properties of $(\in, \in v q)$ fuzzy bigroup.

In this paper, we define $(\in, \in v q)$ - fuzzy normal bigroup and $(\in, \in v q)$ - fuzzy bicoset of a bigroup and discuss their properties as an extension of our work in [2]. We show that an $(\in, \in v q)$ - fuzzy bigroup of a bigroup G is an $(\in, \in v q)$ - fuzzy normal bigroup of G if and only if $(\in, \in v q)$ - fuzzy left bicosets and $(\in, \in v q)$ - fuzzy right bicosets of G are equal. We also show that the set all $(\in, \in v q)$ - fuzzy normal bigroup of G forms a group under a well defined operation.

¹Received July 12, 2012. Accepted November 15, 2012.

§2. Preliminary Results

Definition 2.1([5,6]) A set $(G, +, \cdot)$ with two binary operations $+$ and \cdot is called a bi-group if there exist two proper subsets G_1 and G_2 of G such that

- (i) $G = G_1 \cup G_2$;
- (ii) $(G_1, +)$ is a group;
- (iii) (G_2, \cdot) is a group.

Definition 2.2([5]) A subset $H (\neq 0)$ of a bi-group $(G, +, \cdot)$ is called a sub bi-group of G if H itself is a bi-group under the operations of $+$ and \cdot defined on G .

Theorem 2.3([5]) Let $(G, +, \cdot)$ be a bigroup. If the subset $H \neq 0$ of a bigroup G is a sub bigroup of G , then $(H, +)$ and (H, \cdot) are generally not groups.

Definition 2.4([12]) Let G be a non empty set. A mapping $\mu : G \rightarrow [0, 1]$ is called a fuzzy subset of G .

Definition 2.5([12]) Let μ be a fuzzy set in a set G . Then, the level subset μ_t is defined as $\mu_t = \{x \in G : \mu(x) \geq t\}$ for $t \in [0, 1]$.

Definition 2.6([9]) Let μ be a fuzzy set in a group G . Then, μ is said to be a fuzzy subgroup of G , if the following hold:

- (i) $\mu(xy) \geq \min\{\mu(x), \mu(y)\} \quad \forall x, y \in G$;
- (ii) $\mu(x^{-1}) = \mu(x) \quad \forall x \in G$.

Definition 2.7([11]) Let μ_1 be a fuzzy subset of a set X_1 and μ_2 be a fuzzy subset of a set X_2 , then the fuzzy union of the sets μ_1 and μ_2 is defined as a function $\mu_1 \cup \mu_2 : X_1 \cup X_2 \rightarrow [0, 1]$ given by:

$$(\mu_1 \cup \mu_2)(x) = \begin{cases} \max(\mu_1(x), \mu_2(x)) & \text{if } x \in X_1 \cap X_2, \\ \mu_1(x) & \text{if } x \in X_1 \text{ \& } x \notin X_2, \\ \mu_2(x) & \text{if } x \in X_2 \text{ \& } x \notin X_1. \end{cases}$$

Definition 2.8([2]) Let $G = G_1 \cup G_2$ be a bi-group. Let $\mu = \mu_1 \cup \mu_2$ be a fuzzy bigroup. A fuzzy subset $\mu = \mu_1 \cup \mu_2$ of the form:

$$\mu(x) = \begin{cases} M(t, s) \neq 0 & \text{if } x = y \in G, \\ 0 & \text{if } x \neq y. \end{cases}$$

where $t, s \in [0, 1]$ such that

$$\mu_1(x) = \begin{cases} t \neq 0 & \text{if } x = y \in G_1, \\ 0 & \text{if } x \neq y. \end{cases}$$

and

$$\mu_2(x) = \begin{cases} s \neq 0 & \text{if } x = y \in G_2, \\ 0 & \text{if } x \neq y. \end{cases}$$

is said to be a fuzzy point of the bi-group G with support x and value $M(t, s)$, and denoted by $x_{M(t,s)}$.

Definition 2.9([2]) A fuzzy point $x_{M(t,s)}$ of the bigroup $G = G_1 \cup G_2$, is said to belong to (resp. be quasi coincident with) a fuzzy subset $\mu = \mu_1 \cup \mu_2$ of G , written as $x_{M(t,s)} \in \mu$ [resp. $x_{M(t,s)} q\mu$] if $\mu(x) \geq M(t, s)$ (resp. $\mu(x) + M(t, s) > 1$). $x_{M(t,s)} \in \mu$ or $x_{M(t,s)} q\mu$ will be denoted by $x_M(t, s) \in vq\mu$.

Definition 2.10([2]) A fuzzy bisubset μ of a bigroup G is said to be an $(\in v q)$ -fuzzy subbigroup of G if for every $x, y \in G$ and $t_1, t_2, s_1, s_2, t, s \in [0, 1]$,

- (i) $x_{M(t_1,t_2)} \in \mu, y_{M(s_1,s_2)} \in \mu \Rightarrow (xy)_{M(t,s)} \in vq\mu$;
- (ii) $x_{M(t_1,t_2)} \in \mu \Rightarrow (x^{-1})_{M(t_1,t_2)} \in vq\mu$, where $t = M(t_1, t_2)$ and $s = M(s_1, s_2)$.

Theorem 2.11([2]) Let $\mu = \mu_1 \cup \mu_2 : G = G_1 \cup G_2 \rightarrow [0, 1]$ be a fuzzy subset of G . Suppose that μ_1 is an $(\in vq)$ -fuzzy subgroup of G_1 and μ_2 is an $(\in vq)$ -fuzzy subgroup of G_2 , then μ is an $(\in vq)$ -fuzzy subgroup of G .

§3. Main Results

Definition 3.1 An $(\in v q)$ -fuzzy bigroup μ of a bigroup G is said to be an $(\in v q)$ -fuzzy normal bigroup of G if for any $x, y \in G$ and $t_1, t_2 \in [0, 1]$, $x_{M(t_1,t_2)} \in \mu \Rightarrow (xyx^{-1})_{M(t_1,t_2)} \in vq\mu$.

Theorem 3.2 Let $\mu = \mu_1 \cup \mu_2 : G = G_1 \cup G_2 \rightarrow [0, 1]$ be a fuzzy bi-subset of G . Suppose that μ_1 is an $(\in vq)$ -fuzzy normal subgroup of G_1 and μ_2 is an $(\in vq)$ -fuzzy normal subgroup of G_2 , then μ is an $(\in vq)$ -fuzzy normal bi-group of G .

Proof That μ is an $(\in vq)$ -fuzzy bigroup is clear from Theorem 2.11. To now show that it is normal. Suppose that μ_1 and μ_2 are $(\in vq)$ -fuzzy normal subgroups of G_1 and G_2 respectively. For $x, y \in G$ and $t_1, t_2 \in [0, 1]$,

$$x_{t_1} \in \mu_1 \Rightarrow (yxy^{-1})_{t_1} \in vq\mu_1$$

and

$$x_{t_2} \in \mu_2 \Rightarrow (yxy^{-1})_{t_2} \in vq\mu_2.$$

So that

$$\mu_1(yxy^{-1}) \geq t_1 \text{ or } \mu_1(yxy^{-1}) + t_1 > 1$$

and

$$\mu_2(yxy^{-1}) \geq t_2 \text{ or } \mu_2(yxy^{-1}) + t_2 > 1,$$

which shows that

$$\max\{\mu_1(yxy^{-1}), \mu_2(yxy^{-1})\} \geq M(t_1, t_2) \text{ or } \max\{\mu_1(yxy^{-1}), \mu_2(yxy^{-1})\} + M(t_1, t_2) > 1.$$

Thus

$$\mu_1 \cup \mu_2(yxy^{-1}) \geq M(t_1, t_2) \text{ or } \mu_1 \cup \mu_2(yxy^{-1}) + M(t_1, t_2) > 1.$$

So

$$\mu(yxy^{-1}) \geq M[t_1, t_2] \text{ or } \mu(yxy^{-1}) + M[t_1, t_2] > 1,$$

which concludes that $(yxy^{-1})_{M(t_1, t_2)} \in vq\mu$. \square

Definition 3.3 Let $\mu = \mu_1 \cup \mu_2 : G = G_1 \cup G_2 \rightarrow [0, 1]$ be a fuzzy bigroup of a bigroup G . For $x \in G$, μ_x^l (res μ_x^r) : $G \rightarrow [0, 1]$ defined as

$$\mu_x^l(g) = \mu(gx^{-1}) \text{ (res } \mu_x^r(g) = \mu(x^{-1}g)$$

is called an (\in, \in) - fuzzy left(resp. fuzzy right) cosets of G determined by x and μ .

Remark 3.4 Let μ be a fuzzy bigroup of a bigroup G , then μ is an (\in, \in) - fuzzy normal bigroup of a G if and only if $\mu_x^l(g) = \mu_x^r(g)$.

(\in, \in) - fuzzy bigroup here refers to fuzzy bigroup that satisfy Meiyappian's fuzzy bigroup conditions.

Example 3.5 Let $G = \{e, a, b, c, d, f, x, y, z, w\}$ be a bigroup where $G_1 = \{e, a, b, c, d, f, \}$ with the cayley table

\times	e	a	b	c	d	f
e	e	a	b	c	d	f
a	a	b	c	f	e	d
b	b	e	a	d	f	c
c	c	d	f	e	a	b
d	d	f	c	b	e	a
f	f	c	d	a	b	e

and $G_2 = \{x, y, z, w, \}$ with Cayley table given below

\circ	x	y	z	w
x	x	y	z	w
y	y	x	w	z
z	z	w	x	y
w	w	z	y	x

be the constituting subgroups. Define $\mu = \mu_1 \cup \mu_2 : G = G_1 \cup G_2 \rightarrow [0, 1]$ as $\{0.6, 0.75, 0.8, 0.4, 0.4, 0.4\}$ for $\{e, a, b, c, d, f\}$ respectively, and $\{0.6, 0.3, 0.3, 0.5\}$ for $\{x, y, z, w\}$ respectively. It is also easy to see that fuzzy bisubset μ so defined on the bigroup G is an $(\in, \in vq)$ fuzzy bigroup. Now consider

$$\begin{aligned} 0.6 = \mu(e) &= \mu_1(e) = \mu_1(bb^{-1}) = \mu_1(ba) \\ &\leq \min\{\mu_1(b), \mu_1(a)\} \\ &= \min\{0.75, 0.7\} = 0.7 \end{aligned}$$

even though

$$\begin{aligned} 0.6 = \mu_2(x) &= \mu_2(zz^{-1}) = \mu_2(zz) \\ &\geq \max\{\mu_2(z), \mu_2(z)\} = 0.3. \end{aligned}$$

Hence, μ so defined on the bigroup G is an (\in, \in) fuzzy bigroup.

Also, consider

$$\mu_d^l(c) = \mu_{1d}^l(c) = \mu_1(cd^{-1}) = \mu_1(cd) = \mu_1(a) = 0.75$$

since $\mu_{2d}^l(c) = 0$ and

$$\mu_d^r(c) = \mu_{1d}^r(c) = \mu_1(d^{-1}c) = \mu_1(dc) = \mu_1(b) = 0.8$$

also since $\mu_{2d}^r(c) = 0$. Even though,

$$\mu_y^l(z) = \mu_{2y}^l(z) = \mu_2(yz^{-1}) = \mu_2(yz) = \mu_2(w) = 0.5$$

and

$$\mu_y^r(z) = \mu_{2y}^r(z) = \mu_2(z^{-1}y) = \mu_2(zy) = \mu_2(w) = 0.5$$

where $\mu_{1r}^l(z) = 0$ and $\mu_{1r}^r(z) = 0$. It is clear that $\mu_x^l \neq \mu_x^r$ generally.

Definition 3.6 Let μ be a fuzzy bigroup of a bigroup G . For any $x \in G$, $\hat{\mu}_x$ (resp. $\check{\mu}_x$) : $G \rightarrow [0, 1]$ defined by

$$\hat{\mu}_x(g) = M[\mu(gx^{-1}), 0.5] \text{ (resp. } \check{\mu}_x(g) = M[\mu(gx^{-1}), 0.5]$$

for every $g \in G$ is called $(\in, \in vq)$ -fuzzy left bicose (resp. $(\in, \in vq)$ -fuzzy right bicose) of G determined by x and μ .

Theorem 3.7 Let μ be a fuzzy bigroup of a bigroup G . Then μ is an $(\in, \in vq)$ -fuzzy normal bigroup of G if

$$\hat{\mu}_x = \check{\mu}_x \quad \forall x \in G.$$

Proof Let μ be an $(\in, \in vq)$ -fuzzy normal bigroup of G . Let $x \in G$, then $\forall g \in G$, if $x, g \in G \setminus G_2$,

$$\begin{aligned} \hat{\mu}_x(g) &= (\hat{\mu}_1 \cup \hat{\mu}_2)_x(g) = \hat{\mu}_{1x}(g) = M[\mu_1(gx^{-1}), 0.5] \\ &\geq M[\mu_1(x^{-1}g), 0.5] = \check{\mu}_{1x}(g) = \check{\mu}_x(g) \end{aligned}$$

Therefore, $\hat{\mu}_x(g) \geq \check{\mu}_x(g)$. By similar argument, we can show that $\check{\mu}_x(g) \geq \hat{\mu}_x(g)$ for all $x, g \in G \setminus G_2$.

If $x, g \in G \setminus G_1$, then,

$$\begin{aligned}\hat{\mu}_x(g) &= (\hat{\mu}_1 \cup \hat{\mu}_2)_x(g) = \hat{\mu}_{2x}(g) = M[\mu_2(gx^{-1}), 0.5] \\ &\geq M[\mu_2(x^{-1}g), 0.5] = \check{\mu}_{2x}(g) = \check{\mu}_x(g)\end{aligned}$$

Therefore, $\hat{\mu}_x(g) \geq \check{\mu}_x(g)$. By similar argument, we can show that $\check{\mu}_x(g) \geq \hat{\mu}_x(g)$ for all $x, g \in G \setminus G_1$.

If $x, g \in G_1 \cap G_2$, then,

$$\begin{aligned}\hat{\mu}_x(g) &= (\hat{\mu}_1 \cup \hat{\mu}_2)_x(g) = \max\{\hat{\mu}_1(g), \hat{\mu}_2(g)\} \\ &= \max\{M[\mu_1(gx^{-1}), 0.5], M[\mu_2(gx^{-1}), 0.5]\} \\ &\geq \max\{M[\mu_1(x^{-1}g), 0.5], M[\mu_2(x^{-1}g), 0.5]\} \\ &= \max\{\check{\mu}_{1x}(g), \check{\mu}_{2x}(g) = (\check{\mu}_1 \cup \check{\mu}_2)_x(g) = \check{\mu}_x(g)\}.\end{aligned}$$

Therefore, $\hat{\mu}_x(g) \geq \check{\mu}_x(g)$ for all $x, g \in G_1 \cap G_2$. Similar argument shows that $\check{\mu}_x(g) \geq \hat{\mu}_x(g)$. Hence, $\hat{\mu}_x = \check{\mu}_x \forall x \in G$. \square

Theorem 3.8 *Let μ be a fuzzy bigroup of a bigroup G . If $\hat{\mu}_x = \check{\mu}_x \forall x \in G$, then μ is an $(\in, \in vq)$ -fuzzy normal bigroup of G .*

Proof The theorem is a direct converse of Theorem 3.1.6. Let $\hat{\mu}_x = \check{\mu}_x \forall x \in G$, then, for all $g \in G$,

$$(\hat{\mu}_1 \cup \hat{\mu}_2)_x(g) = (\check{\mu}_1 \cup \check{\mu}_2)_x(g)$$

which implies that

$$\max\{M[\mu_1(gx^{-1}), 0.5], M[\mu_2(gx^{-1}), 0.5]\} = \max\{M[\mu_1(x^{-1}g), 0.5], M[\mu_2(x^{-1}g), 0.5]\}.$$

if we replace g by xyx , it follows that

$$\max\{M[\mu_1(xy), 0.5], M[\mu_2(xy), 0.5]\} = \max\{M[\mu_1(yx), 0.5], M[\mu_2(yx), 0.5]\},$$

which shows that μ , which is a fuzzy bigroup of the bigroup G is normal. That μ is an $(\in, \in vq)$ -fuzzy normal bigroup of G is a direct consequence of equivalent conditions of Proposition 2.4.1. Hence the proof. \square

What can we say about the properties of a set that contains all the $(\in, \in vq)$ -fuzzy normal bigroup of a bigroup G ? Can an appropriate operation be defined on this set to form a group or a normal subgroup of that set? The following observations have been made to give an insight into the answers:

In a bigroup $G = G_1 \cup G_2$, if we let μ_1 be a normal fuzzy subgroup of G_1 and S , the set of all fuzzy cosets $\hat{\mu}_1$ of μ_1 in G_1 . If we follow the approach used for similar concept in [4], define composition on S as:

$$\hat{\mu}_{1x} \cdot \hat{\mu}_{1y} = \hat{\mu}_{1xy} \quad \forall x, y \in G.$$

For any $g \in G_1$, if we let

$$\hat{\mu}_{1x}(g) = \hat{\mu}_{1y}(g) \text{ and } \hat{\mu}_{1z}(g) = \hat{\mu}_{1w}(g),$$

then

$$M[\mu_1(gx^{-1}), 0.5] = M[\mu_1(gy^{-1}), 0.5] \quad (\star)$$

and

$$M[\mu_1(gz^{-1}), 0.5] = M[\mu_1(gw^{-1}), 0.5], \quad (\star\star)$$

so that

$$\hat{\mu}_{1xz}(g) = M[\mu_1(gz^{-1}x^{-1}), 0.5] = M[\mu_1(gz^{-1}x^{-1}), 0.5].$$

By replacing g by gz^{-1} in (\star) .

$$M[\mu_1(gz^{-1}x^{-1}), 0.5] \geq M\{M[\mu_1(y^{-1}gz^{-1}), 0.5], 0.5\}$$

and since μ_1 is fuzzy normal, it follows that

$$M\{M[\mu_1(y^{-1}gz^{-1}), 0.5], 0.5\} \geq M[\mu_1(y^{-1}gw^{-1}), 0.5]$$

replacing g by $y^{-1}g$ in $(\star\star)$.

$$M[\mu_1(y^{-1}gw^{-1}), 0.5] \geq M[\mu_1(gw^{-1}y^{-1}), 0.5]$$

and since μ_1 is fuzzy normal, it follows that

$$M[\mu_1(gw^{-1}y^{-1}), 0.5] \geq \hat{\mu}_{1yw}(g).$$

By a similar argument, it can be shown that $\hat{\mu}_{1yw}(g) \geq \hat{\mu}_{1xz}(g) \quad \forall \quad g \in G$, so that $\hat{\mu}_{1xz} = \hat{\mu}_{1yw}$, which shows that the composition defined on S is well defined.

It is easy to see that S is a group with the identity element $\hat{\mu}_{1e}$, and $\hat{\mu}_{1x^{-1}}$ as the inverse of $\hat{\mu}_{1x}$ for every $x \in G_1$. Let $\bar{\mu} : S \rightarrow [0, 1]$ be defined by

$$\bar{\mu}(\hat{\mu}_{1x}) = \mu_1(x) \quad \forall x \in G_1,$$

it is observed that

$$\begin{aligned} \bar{\mu}(\hat{\mu}_{1x} \cdot \hat{\mu}_{1y^{-1}}) &= \mu(\hat{\mu}_{1xy^{-1}}) = \mu_1(xy^{-1}) \\ &= M[\mu_1(x), \mu_1(y), 0.5] \\ &= M[\bar{\mu}(\hat{\mu}_{1x}), \bar{\mu}(\hat{\mu}_{1y}), 0.5] \quad \forall \quad \hat{\mu}_{1x}, \hat{\mu}_{1y} \in S. \end{aligned}$$

Also,

$$\begin{aligned} \bar{\mu}(\hat{\mu}_{1x}\hat{\mu}_{1a}\hat{\mu}_{1x^{-1}}) &= \bar{\mu}(\hat{\mu}_{1ax^{-1}}) = \mu_1(xax^{-1}) \\ &= M[\mu_1(a), 0.5] \end{aligned}$$

since μ is fuzzy normal,

$$M[\mu_1(a), 0.5] = M[\bar{\mu}(\hat{\mu}_{1x}), 0.5].$$

which shows that $\bar{\mu}$ is a fuzzy normal subgroup of S .

Now that it has been established that in a bigroup $G = G_1 \cup G_2$, if μ_1 is a normal fuzzy subgroup of G_1 and S_1 , the set of all fuzzy cosets $\hat{\mu}_1$ of μ_1 in G_1 , is a normal subgroup with respect to a well defined operation.

By extended implication, we can say that in a bigroup $G = G_1 \cup G_2$, if μ_2 is a normal fuzzy subgroup of G_2 and S_2 , the set of all fuzzy cosets $\hat{\mu}_2$ of μ_2 in G_2 , is a normal subgroup with respect to a well defined operation, so that we can then conclude that in a bigroup $G = G_1 \cup G_2$, if $\mu = \mu_1 \cup \mu_2$ is a normal fuzzy subgroup of G and S , the set of all fuzzy cosets $\hat{\mu}$ of μ in G is a normal subgroup with respect to a well defined operations S .

This result is summarized below:

Corollary 3.9 *Let $G = G_1 \cup G_2$ be a bigroup. If $\mu = \mu_1 \cup \mu_2$ is a normal fuzzy subgroup of G , the set S , of all fuzzy cosets $\hat{\mu}$ of μ in G is a normal subgroup with respect to a well defined operations on S .*

References

- [1] Ajmal N., Thomas K.V., Quasinormality and fuzzy subgroups, *Fuzzy Sets and Systems*, 58(1993) 217-225.
- [2] Akinola L. S. and Agboola A.A.A., On $(\in \vee q)$ -Fuzzy Bigroup, *International Journal of Mathematical Combinatorics*, Vol.4 (2010), 01-07.
- [3] Bhakat S. K., Das P., On the definition of fuzzy Subgroups, *Fuzzy Sets and Systems*, 51(1992), 235-241.
- [4] Bhakat S. K., Das P., $(\in, \in \vee q)$ -fuzzy subgroup, *Fuzzy Sets and Systems*, 80(1996), 359-393.
- [5] Maggu P. L., On introduction of bigroup concept with its application in industry, *Pure Appl. Math Sci.*, 39, 171-173(1994).
- [6] Maggu P.L. and Rajeev K., On sub-bigroup and its applications, *Pure Appl. Math Sci.*, 43, 85-88(1996).
- [7] Meiyappan D., *Studies on Fuzzy Subgroups*, Ph.D. Thesis, IIT(Madras), June 1998.
- [8] Ming P.P., Ming L.Y., Fuzzy topology I: Neighbourhood structure of a fuzzy point and Moore-Smith convergence, *J. Math. Anal.Appl.*, 76(1980) 571-599.
- [9] Rosenfeld A., Fuzzy groups, *J. Math. Anal.Appl.*, 35(1971) 512-517.
- [10] Vasantha Kandasamy W. B., *Bialgebraic Structures and Smarandache Bialgebraic Structures*, American Research Press, Rehoboth, NM, 2003.
- [11] Vasantha Kandasamy W. B. and Meiyappan D., *Bigroup and fuzzy bigroup*, 63rd Annual Conference, Indian Mathematical Society, December, 1997.
- [12] Zadeh, L. A., Fuzzy sets, *Inform. and Control*, 8(1965), 338-353.